


Z;JF fowe KWWMV T <C’ - & )OM) |
O =tk +~ P d?nﬁf E(fn%

e wdfld)
B 2t)= e (- ﬂ@)ig@* [T ole\
=

( & =—20 k. iy
—20)> o) )









. D

i

42 {lo

Haomeg—7M—

g

desue b AN “fjJ W“’“J( i3
NTS  2ZM ie o "4 oo P
il £ (200 |6,) = 262 gy &)

= 2(<) M(¢). CED

S




: /(/\\)) e o BM («ML% |
(= @[(O\O/U%ls i(x 'L’

Q@EML /vz TR ﬁ MM/L ?
b"“‘( U\)U 31 - ch/ AIP— ﬂ— v >@
LW@W:/}“K N%U«%W’P

S
C 5



W w‘ /b
() .

— 1
GG

= @vz 12+ 2dw.
(4% Z 0w | h(WL o g
) ’

- QEn .



E“sL ij(ml /PM.B‘L
() %\Wé /me/:mg " Q@M’./%&EM.
Y N Y
f(;V”QZ W#ﬂ( TLW;%@. ‘
™20 Goruhn),

@ M% MMZMLW Wlm«ﬂ»wl@ €, Eé@ .
iZ o a M[w;lw( %wagg

- e



KD@LML Potce « D) = 6’ ﬁ%@ o

e ) — oty B |

_fé__ A 'MGL /VtM}Lwl Wasm(; 4 n heasl #&L
5 %ML)( b Py aid AL W
D(@ gé@ lg (L Mﬂ )

@ tng[@w @% P\:Ull/{
= ms OWL» T
@ wawc, %ENM <> Qw lw%mm[»aujﬂlg': /H?




h—~

Cookle: RN o sl
U[pg) —vde + Clo + A5
= DQ(@M&% +m{b0> 4 — SRD 44
= $D @—:—@) A —mM) |

o)y~ wd) —re) .
W= 52 bt fiw of )

O((DQ = +<p Q&%ﬂ@
— AT



i dii=e4 +4  (VO-0)
o 20 = of (- (it -2 g%&@j"@
0 :

O

i >0, [} 1% = 2(T) AP
Uit 2 5 0 03)  fssen Wi 23,5
= d(p)= ™D ofﬂffzf‘@ <o v ek P

o
UP = 20dP » RO



/lawm (Uafl) * Bk N P“ vl
L. T 20 Ut Ver) LL

:% & o RV
i) = Bagl) ot w« 4« doicfic W{
ol = { Mowy WL + QM@

= JZC/LWJ wiie b o e o el o e
L/’/Le %MJ ﬁ W) .5(6 fﬁ(g}% WT)}%J




/M jﬂNLf(v'W;z__' Uwiw o ZNWL.% wj%( %j

[
DN "5 o

(A)'
AQ— KUCBQ o Jrﬂ‘ga(
s dC —

—— Wl xS 4+ S (Mj & )g
— Qi’l: ws(iw—-« K— Rol>
X +

= +RSU +o Sl
=l ud by wat, ) — "awo






o ke i) — A ASE). ~-RX 1) - A% 4
= aleed 4+ 0lB) L Rxd —7acdt

AX = KV H +AV\§0[/{

A(DX)—~ DA\ + XD +O
=D RX 4 +Av~§o[m> +)(< RD aU;>

_,DAVQDM e %M,’P




. ——

7 o 4 R ?Wj frls.
W) = vl ol W
me\ = DX L o /ﬁj W

Bodl O fie dhud 1) = X(Jc>
@/H wly Moo X(T)-V(T)

= \/Gé) —3 'D C n D&)X&) ""’—B%@ g(’b(’@ Xﬁ) } %> :

_ ¥/pm i
ﬁ( U;T) i) = ()m}d er) [@i%) QED.



S Qj Vi) —J(SH) (5 Pode U] )

MMLW ?m{v == V(«é — C,('E QJ)
,~ (a(lc %) — O db +(9 ‘Mauﬁﬁgsj

DJA g o at) - %ﬂ@@ C(fc>>,




C Bl Qe Al

(L) — M%‘;
Q‘@) — C&%aﬂ(
RU) — cooht e— RE) ="

Furspan all, e k2 V) = &@’ -
KNP = C(JC)Q(JC) —.:-_ I-_\:<@ _%) Q(T)—K)ﬂL/ Jc>
ow ) — e (- £)4 + W) 500



-~T v e

—e E &{7@,@@.&) o) -H) ki)
o) — )"
. e(@@ (Y + () i) -

T 7

/

—

Iudged Lo, ot Lo nd Lyl

————e

e, )

o)



